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Question 1: Consider the class tree; Code a set of 4 class statements to model this taxonomy with Python inheritance. Then add a speak method to each of your classes that prints a unique message, and a reply method in your top level Animal class that simply calls self.spleak to invoke the category-specific message printer in a subclass below. Your classes should work this way:
>>S =Cat()
>>S.reply() 

#Animal.reply ; calls Cat.speak
meow

Question 2:  Define a Counter class that supports the following interaction: 

>>> c1 = Counter()     ## default is to start counting from 0

>>> c1.numCountersMade

1                      ## Only c1 so far

>>> c2 = Counter(100)

>>> print(c1)

Counter: 0

>>> print(c2) 

Counter: 100

>>> c1.increment() 

>>> print(c1)

Counter: 1

>>> print(c2) 

Counter: 100

>>> c1.numCountersMade

2                      ## We've only made c1 and c2 so far

>>> c2.clear()

>>> print(c2)

Counter: 0

Question 3:  What results would be printed by the following Python program? 

a = [1, 2]

b = [1, 2]

c = [6, 7, a]

d = [6, 7, a]

e = a + c

f = [c, d]

a.append(5)

c[:1] = []

print a

print b

print c

print d

print e

print f

Question 4: Is Python pass by reference or pass by value? explain your answer
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